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Statistical analysis

We modeled the probability of pulmonary infarction as a function of the covariates with logistic regression. We included the following covariates: sex, age (continuous in years), height (continuous in cm), body mass index (BMI, continuous in kg/m2), current cigarette smoking, use of oral contraceptives, recent trauma or surgery, family history of venous thromboembolism, comorbid conditions, patient location at the time of the incident embolic event (in- or outpatient), thrombophilia, massive PE, and acute right ventricular overload. We first considered univariate associations with the probability of each of the above covariates and the probability of pulmonary infarct. The relationship between the three continuous covariates (age, height, BMI) and the probability of infarct was carefully inspected. Departures from linearity on the logit scale were tested by including 3-knot natural cubic splines and by visual assessment of regression residuals. The relationship was approximately linear with height and BMI, but markedly nonlinear with age. Therefore, age was introduced with as three-knot natural cubic splines with knots placed at 10, 30, and 60 years. The covariate that showed statistical significance less than 0.20 were later included in a multivariable model. Those that were not significant were removed if the change in the remaining coefficients following their removal was smaller than 10%. The regression coefficients associated with the covariates included in the final model are reported in table 1.

	Table 1. Regression coefficients associated with the covariates

	Covariate
	Regression coefficient
	z
	P>(z(

	Age, years
	0.14896
	2.84
	0.005

	Spline
	-0.17079
	-3.29
	0.001

	Height, cm
	0.03867
	2.65
	0.008

	BMI, kg/m2
	-0.10636
	-2.91
	0.004

	Current smoking
	1.28167
	3.86
	<0.001

	Constant
	-8.38985
	-3.07
	0.002


An example of the computation of the probability of infarction is given below.

Age: 40 years

Height: 177 cm

BMI: 23.9 kg/m2
Current smoker: no

Spline = [age – 10]3 / 2500 – [age – 30]3 / 1500 – [age – 60]3 / 3750

If the value in squared brackets is ≥0, it is retained as such. If it is <0, it is set equal to 0.

Hence,

Spline = (40-10)3/2500 – (40-30)3/1500 – (40-60)3/3750 = 10.8 – 0.67 – 0 = 10.13

The algebraic sum of the covariates (each multiplied by the corresponding regression coefficient) is added onto a constant. 

Sum of covariates = 8.53088 – 8.38985 = 0.14103
Probability of infarction = 1/1+(exp(–0.14103)( = 0.5353 
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